A AXEE

I CHTO] U L U ADUSH(LB DU/ L)

Sl BRI L NHUHd Haras) (&9 5a

SH - B S9(S1) - NBASY - BAS ofl & o4 pIE-L" HRE2
XEXI S D} 15,793,918 9,804,607 5,989,311
2 3,216,321 662,721 2,553,600
s 2,669,071 0 2,660,071
= 9,908,526 9,141,886 766,640
SHEO S0 Y NXHBUSH(LHNTITUE/LBHE) 9,796,254 9,570,783 225,471
2 632,204 632,204 0
N 115,471 0 115,471
= 9,048,579 8,938,579 110,000
AHHS 2 XN Azrus) 319,950 274,950 45,000
58 U= NgER =T 207,500 202,500 5,000
307 BI2t0IF 205,000 200,000 5,000
02 DIZHFHAEE 205,000 200,000 5,000
OBZEROIIHD 2 205,000 200,000 5.000
SMUD XHESHE XIHerS))| 43,450 3,450 40,000
403 XHXISHHISXH=O0IH 40,000 0 40,000
01 MXSHZSE 40,000 0 40,000
OFAIIFES 01BIIPI| 24012 X8 40,000 0 40,000
QIZIEHH EHEO X 1,468,300 1,448,300 20,000
MOIBXIEX S4 220,000 200,000 20,000
307 BI2t0IH 20,000 0 20,000
04 BIZFAIRE 20,000 0 20,000
OUAT MOISXISIHHS HE K& 20,000 0 20,000
KIAIBISE U RS AR5 1,299,673 1,139,202 160,471
= 484,193 484,193 0
s 115,471 0 115,471
= 700,009 655,009 45,000
FUXRIME B3 £ 40,900 10,900 30,000
308 KXISHHISO0IE 30,000 0 30,000
01 MXSHZAEES 30,000 0 30,000
OFLXXIME 24 ZE2IE X8 30,000 0 30,000
METURY QBHHNRYH 7S 117,771 2,300 115,471
= 115,471 0 115,471
= 2,300 2,300 0
201 Leregt| 22,580 0 22,580
s 22,580 0 22,580
01 AR 2] 900 0 90
OFR2LEHE &S X 90 0 90
= 90 0 90
03 A2 21,680 0 21,680
OFRILHE TS L FuSY YA 21,680 0 21,680
s 21,680 0 21,680
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SA-EHH . O9(H) - NBAY - BAS Ofl Ak ot J1E o HDS2
202 (4| 8,471 2,300 6,171
= 6,171 0 6,171
& 2,300 2,300 0
01 2LHAHI 8,471 2,300 6,171
OFDIMEAHIA HREFA 8,471 2,300 6,171
= 6,171 0 6,171
& 2,300 2,300 0
301 et8ata 86,720 0 86,720
= 86,720 0 86,720
10 ALAIHIB &S 54,720 0 54,720
OFRZ2LIHE A It 54,720 0 54,720
£ 54,720 0 54,720
12 JIEtR &3 32,000 0 32,000
FEQLIHH HIl0teelXl X2 32,000 0 32,000
=S 32,000 0 32,000
T NA2ASAMHE &4 =& 410,300 395,300 15,000
307 SI12t0|H 407,000 392,000 15,000
02 QIZHFAE X 407,000 392,000 15,000
O K2SAHHEH 2 L A=A 295,000 280,000 15,000
NS USHBSISEAHLUCHH /THLERY - 218E2() 5,930,938 167,098 5,763,840
= 2,584,117 30,517 2,553,600
S 2,553,600 0 2,553,600
= 793,221 136,581 656,640
XS oigt A2t N 0 5,910,938 147,008 5,763,840
= 2,584,117 30,517 2,553,600
S 2,553,600 0 2,553,600
== 773,221 116,581 656,640
HEXE FOIUILIAILE &=5(=21) 5,763,840 0 5,763,840
= 2,553,600 0 2,553,600
= 2,553,600 0 2,553,600
== 656,640 0 656,640
403 AHXISHHISAE0|H 5,763,840 0 5,763,840
= 2,553,600 0 2,553,600
= 2,553,600 0 2,553,600
== 656,640 0 656,640
01 XXISHHA2EX 5,763,840 0 5,763,840
O&EZ XS FCUNIIANL &5 5,763,840 0 5,763,840
= 2,553,600 0 2,553,600
=S 2,553,600 0 2,553,600
& 656,640 0 656,640
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